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17U/104/1(Set-1)
No. of Questions : 180
T #Y W : 180
Time : 2 Hours | [ Full Marks : 450
T 2 e ] [ gUIfEF: 450
Instructions : 1
A3 -

This paper consists of Objective Type Questions and s divided into
Two Sections (1 & I1) as under :

ﬂ?ﬁ-ﬁﬁﬁﬁﬁ?ﬁﬂﬂﬁﬁ?ﬂﬂﬁﬂ%ﬂlﬁw(I‘gfcfll}fifaﬂﬁﬁr%,W
la) Section - I consists of 120 Objective Type Questions on General Awareness,

Mental Ability, Compsehension and Subject Awareness in sUme major
subjects.

(%) @S - [ % 120 SgRTE v amEg S, g YT, drmrermr ur e
7T i & q R e & |

(b) Section - II consists of 30 Objective Type Questions on (yy English
Language and (II) Hindi Langtage.

(@) @y - %I A 30 TgRwen w7 1) s o () o=t o % 7w
HTETRE I

A candidate is required to attempt as many questions as he/she cap of
Section - I, and Questions 61 ANY ONE of the TWo 1,

@) English OR (I Hindi in Section - I fguage papers
et I 2 [ e — <y W - H & (1) 3R T
IiE gt @ e W }%ﬁmﬁﬂ?é}‘

NotelIZ: (1} Each question cardes 3 (Thrup) marks. One ek i gy
each incorrect answer. Zerp mark will be awasded for each educted for
W® 9T 3 ({7 IO 5 ¥ rier v v |
T SR SR S By s T ET| k4 g IE Frer
’ (3)
P.T 0
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(2} If more than one alternative answers seetm 10 be approximate to the
correct answer, choose the closest one,

ﬁ@?ﬁ%am%qﬂ?ﬁfﬂwzﬁﬁﬁmﬂ # d gear O I

L
G |

{3) Each question is followed by Four alternative answers (1), (2}, {3} and t4)
One of these answers is correct. Select the correel answer and record it
against the relevant question in the ANSWER-SHEET by darkening the
circle with Bal) Point Pen as per guidelines.
T g A AR S ST gIa T, § B (1), (), (3) T (§) W]
& gy v 2 T 9§ 399 §F IR B wel ¥ wel S A e THE
S P wERE ¥ ATl e @ W fréemeR S g4 (e}
TTel GIEvE U BTN et @R SEEd |
SECTION -1
s ~ |
1. Who said, "Culture is a man-made part of Environment” 7 -
(1) Herskovits (2) Malinowski (3} G . Churye (4 C H. Cooley
o i S r Y i rfiaguy @ Ara-farT weT & 2
(1) exlaed () e @) sho we gRE (&) Fo THe Tl
2. Which of the following Arlicles of Indian Constitution deals with abolition on
untouchability 7 '
(1) Article 16 (2) ‘Article 17 (3) Articde335  (4) Article 340
mfﬁmﬁﬁmﬁﬁﬁmﬁﬂiﬁmwmqﬂwﬁﬁw&m%?
(1) 3BT 16 @) sg@c 17 @) IIRRBE @) argede 340

3. White collar crime 15 committed :

(1) By poor people
(3) By Elite class of society
g G e I &

(2) By big gang
(4} By the common people

o ) s e
) Waﬁgfaiﬁaaﬁ'm (4) AT S &
L dose system because :
A Cabt; ibaﬁﬂd on celigion (2) Itis ascribed status
g; L lated toTadition (4} 1tis related to Jajmani systemn
;ﬂ |a’a %Eﬁﬂ% | Zhy
* memﬁm% (2) =8 T e Wl #
(1) 2 @Mﬂmﬁﬁ% [Lgmmmﬁmﬁwmﬂﬁ

(4)
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Varna systern started in the : -

(1) Vedic Period (2) Pre-vedic Period

(3) Harappa Period . , (4} Medieval Perind

ol araver TR g of

(1) ¥ Fa 3§ (2) SwfEs o A

(3) &= Tl # C - (4) e W i

Who was the, Chairman of Backward Class Commission, which has proposed

27% reservation for the Other Backward Classes ?

(1) Kaka Kalelkar (2) B.R. Ambedkar

(3) B.P, Mandal | (4) Jagjeevan Ram
Mﬁmwm%mmﬁwﬁrﬁéﬁﬁfmmamm
TG Y& Y :

(1) T Frereey (2) o aRe IAsHy

(3) o do qugam (4) oroftes

"Criminals are born," Who said it ?

(1) Sutherland (2) Lambroso (3) Gagard (4) Taft
Sl e der e E fremr mam 2 7

O IGE G (2} Y (3) 7w (4) Twe

In which year "Swarn Jayanti Gram Rajgar Yojana" inacted 2
ot SO I AR A B oy eg o 9

{1) 1998 ) 1997 (3) 1999 (4) 2000
Who has propounded the eyatical theory of social change ?
(1) Kari Marx (2) Pareto
(3) Auguste Comte {4} Herbert
(1) # 2) ter
(3) s TR (4) B WrAR
What is the name of the writer of book "Républic' ? _
(1) Davis {2) Axistgtle (3) Plato - 4) s
Rufem” (w3 Qe & 7 THE? pencer
(1) % (2) sy, 3) wiet (4) gy
“Sampurnanand Ashram" is associated with WU ghe following 7
{1} Borsial Schoak- (2) Open Jail
(3) Closed Jail 4) Remand Hom.
et s SRl ¥ e e 8
(1) dree T (2) o

15)

P.T.0,
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12,  Who first of all used the term "Carvodava” in Indian Politices 7

(1) Vinoba Bhave _ (7 Radha Kamal Mukhetiee
(3) M. K. Gandhi (4) Narendra Dev
T e B et e @ war e T e
(1) R v (2) TRIT W HEsof
(3) THo T i) (4) T Ed

13. "Where there is life, thera is sociely.” Who sawd ?
(1) Machver and Page {2 CGiltlin and Gitlin
(3) Davis (4} Johnson
S i R e e B e (e Fel Y
(1) irEgan ud O (2) fferm ferfore
(3) afdw (1) THAE

14, 'Chipko Movement” was led by e
(1) Medlio Patkar ' (2} Sunder Lal Bahuguna
(3) Baba Amte : {(4) Uma Bhart
s ra i e ol o ST R
(1) &em meaR 4 ~ (2) R T
(3) Fmar e A (1) = ST

18, Which is not the characteristic of it famnify ?
(1) Common kitchen - (2} Formal relation
{3} Joint property () Common God
iy @ wA-t e SR YRAR B AR 7
(1) e qEn T (2) slaEiRe wE
(3) T F (1) I A

16.  Which one of the fullowng most appropriately defines Psychology ?
(1) A science of mental processes
{2) A science of behaviour
(3) A science of vognitive processes
{4) A science of hehaviour and cugnilive processes
frefod A W AT A A @ 2 i w7
i it U e 3
i - 'I:ﬂ_T"TI .%
) E?Iﬂ'gr‘z lrﬂf = . I
& @ ST 7 DT # |
) mEd @ s RIS o FrRr S
R ; A e . ;
[:"i‘l} . D{' ﬂ-'-e IUHDWH'lgfIrSL Ck"ﬁ'l'L.“:i'l{_'!lE_'.l‘t":-l. f;:lll.l_:h{_;'T:EI.H E‘rp('f'llf_'f.’{_'{:’ as Pfﬂce.'-ir: ?
1 WiliamJames (¥ Woulworth () 7jy,
. ppall () Wil - (4 Tilchner
(1 MCDIET e et g e on (ST v s 3 -
prfer & () e S (3) Tend {4y fram

(6]
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Which one of the following methods most reliably examines the cause-cffect
relationship between two variables ?

{1} Correlational method (2} Observation method

{3) Experimental method (4) Field experiment methad
frferfee # @ gl Bt @ aRewt & 9w oo TR @ Reae
THET BT & 7

(1) weuiy 2y {2} Wer fafer
(3) warTRee Ry _ (4) A=srdvr Ry
Which part of retina is responsible for colour sensation ?°
(1) Rods {2) Cones | (3} Bipolarcells  (4) Opticnerve
FieuTH BT HI-H 9P ) B FIE & foy P 2 2
() 7~ (2) T (3) fagd 4) 3 vy
Which one of the following is most important part of hearing system ?
{1) Cochlea canal {2) Serni-circutar canal
(3} Pinna (4) Eustachian tube
Frfefyn & @ B smordy a1 wad vt A & 7
(1) Wil et (2) sefumER ol
@) Rem (4) T30 T
Which one of the following controls and executes visual sensation ?
(1) Parietal lobe (2) Occipital lobe
(3) Temporal lobe (4) Frontal Tobe
Frefefs % $1 gfte T o fraern d S w8 7
(1) mf¥dw wie @) Yo e
(3) ¥he @vs (4) 317 @Us
Which one of the following propatnded the concept of figural persistence 7
(1) WErﬂ'le_imer (2) Kohlar (3) Rubin @) Broadh t
Pt & R s @ woe o s By oy
(1) ER () e (3) g @ e
When we perceive a stable poihit-af light asemeving-it a darj, , »
(1) Alpha movement "~ (2) Autokinetic ph%{?;;m called
(3} After-effect (4) Straboscopic Mm'r%
w78 7 R T R B, R 2 R gt R R
(1) e TR o W TR
(3) wEFA 4) R mfy
(7)

F""I‘_[l
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24,

25.

26.

27.

28,

30.

Which one of the following theories of personality cannot be put in the category
of "trait” theory ?

(1) Allport'stheory (2} Sheldon’s theory
(3) Catlel's theory {4) Eysenck’s theory

afirer @ Prefiitd frgrat § @ Rewer e Rrgra @ At & T s o

Hhdf ¢

(1) 3Made &7 Regrd (2) doed @ g

(3) #ew w1 Fagra (4) amicE P RrE

Which one of the following proposed the 'muliifactor” theory of intelligence ?
(1) Thorndike (2) Binet {3} Thurstone (4} Spearman
Ppafafig # o feeet I65 & 9goRT frigrmm o7 W fdgn en ?

(1) offterg® 2) = (3) “&HA (4) TRRAT
Which one of the following developed the “Stanford-Binet” intetligence test ?
(1) Binet (2) Stanford {3) Terman (4) Cattel

S ABE-AY qfy e F1 Fwtor fre famr wn e

(1) a4 (2) TP (3) ex T (4) &2
Which one of the following gave the concept of "mental age” ”

(1) Wedhsler {2) Binct (3) Spearman (4} Thorndike
TS T T e e wegd 6 o6 ?

(1) dmar @) fa= (3) whRi= (4) FeEm

Whach one of the following used non-sense syllabus first in his experiment on
memory 7 : |

(1) Battlett (2) Ebbinghaus  (3) DPaterson (4) Jenkins

e & el 3, el gl v swd wver R R en 7

(1) ST () gfmre o () TeEd (4) =

Which one of the following is regarded as a stage of remarkable development
of ph,},ﬁi.:aj and mental abilities ?

(1) Infancy (2) Early (I:hﬂﬂhmdm Adolescence (4) Acliulthond
R ¥q B, TR T HEe At @ e £ SN T

Y.
i{;ﬁ ﬁ;ﬁm (2) qaearmen  (3) perererett (4) FEEHTRET

Which o of the following studies/ measures 18 used in activities of brain cells
i :
e stafe of emotion ?
3 :

(1) Galvammemf
(3) Eleclmcardiﬂgram

2} Eleckoencephalogram
{Iﬂ Prneumograph

(8)
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34,
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WA B s # uafes @frend @ Grawd ¥ sromsamm Refaiaa § 9
faes g1 T o & 7

(1) freerfes (2) ToaCIEARAGET
(3) sergETETTw (4) ~ERRE .

Price consumption curve of a normal commodity is: .

(1) Negatively sloped (2) Positively sloped
(3) Horizontal (4) Vertical '

U% WM ¥ &1 Br SUHNT 9% 2T §

(1) WO B arem 2) "HS Gr areT

(3) e | (4) wed

Which form of monopoly regulation is most advan tageous for the consurner ?
(1) Price contro)

{2) Per unit tax

(3) Lump-sum tax

(4} All the above three are equally advantageous

forg FER T VAR e Sudeer & R weifes s 2 7

(1) #wa FRiwor -

(2) wRY gord wve

{3) T W

(4) ST T W A #

Which one of the following pairs is mef correctly matctiea 7

{1) Period Analysis — Marshall (2} Compensation Principle - Pareto
{3) General Equdlibtitim - Walras {4) Margimal Utility - Jevons
frefofan % & BF-91 16 30 W T8 & -

(1) @ fehesr - mefer () s R - we
{3) W g A L (&) T SR — g

Discriminating monopoly i%possible when :

(1) twe markets have increasing level of costs

(2} two markets have decreasing level of gosts

(3) two markets have same elasticity of demand
(4) two marieets hiave diffasant glacticity of demand
v THIDPR T G 2, 9

(1). T o % AT AW S )

(2) @ arani | W BTN T gy gy

(9)
PTO,
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35.

36.

37.

38.

39.

40.

Name the Economist who distinguished between value in use and value in
exchange and gave the famous example of diamonds and water :

(1) David Ricardo (2} Adam Smith

{3) Karl Marx (4) Alfred Marshall

I SSAER BT A aeg SR e e aon Rfer T & 49 e e e
&R e e @1 uig wwweeor I

(1} 2fs RorEf (2) weq R

(3) HToh Ay (1) FShe WA

Uncertainty Bearing theory of profit was propounded by :

(1) Knight {2y Clark . {3) Marshall (4} Hawley
o w1 ey g SR R e e

{1) ge gw™r (2) TT® G (3) =@ gw (4) BTES g
Who gave the credit money based equation of Quantity theory of Money ?
(1} John Stuart Mill (2) David Ricardo

{3} Trving Fisher (4) A.C. Pigou

gl @l REIT RigT BT R GET SR e e R

(1) =it wgare fAe 2y e Rl

(3y ST TR (4) to Eo 9T

The slope of the consumption function reflects - |

(1) Aggregate consumption (2) Marginal propensity io conswie

(3) Average propensity to consume (4) None of the above
ORI e W e e P! §

(1) T SYHPT | (2) @ ST A
(3) shterr ST P (4) Sudea ¥ ¥ B
Who regulates monetary and banking system in India ?

(1} State Bank of India (2) Reserve Bank of India
(3} Government of India | (4) Indian Parliament
g 3 AE® O $6xi1 YU B FrEd E Rl § 7 h

(1) e €T (@) T R

- 4) I E
() A B @ A

4unemployment is a feature of:

il

Ej:g';rﬂ Je o (2) Tr%napmrt (3) Industry (4} Agriculture
! GRCHERIESE

ﬁ?jffﬁ @ A A () T A

(10)
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41, Narsimhan Committee was appointed to make recommendations for :

(1) Agricultural reforms - (2) Industrial reforms

(3} Tnsurance reforms. - {4) Banking sector reforms
Wi afafe o= o, Reerfest oy @ Png

(1) B8 quRl & e § (2) afrenfire guwi & e &

(3) < guRt B ey F (@) Ay & et & day v

42. As a percentage of GDP, which type of deficit has been estimated to be
maximurm for the year 2017-18 in case of Central Government ?
(1} Revenue Deficit (2) Effective Revenue Deficit
(3) Fiscal Deficit (4} Primary Deficit
She o Wo 3 wRwT F B A fve uew & g § odly aeen @ wed § ad
201718 & forv waifrs amefaa fw mar # 2
(1) 9 "izT (2) WMl o g
(3) TN wer (4) ymafie o

43. What is the papulation density in India as per the 2011 census (No. of persons

per km’ of area) ?
2011 @ TR F s WNE W ariEEn wee @ ol Rt @ dw %
wfthrd] &t wwm) gar & 2 :
(1) 367 _ (2} 382 (3) 247 (4) 236
44. ‘Jawabar Rozgar Yojana' fof riral employment sas.algpted in the vear
AT R o T T ISR AR 3 QST (e 9% 1 2
(1) 1959 (2) 1979 3) 1969 (4) 1989
45. The approximate ratio between the rural and urban.pﬂpmaﬁ{m in Indig is -

AR 7 AT sfie wed-omeiemr @ A st oS &

(1) 4:1 {2} 6.1 (3} 7:2 (4) 8:3
46. ‘Sangam literature’ relates to which region ? _

(1) South India * {2) North-East India

(3) Cenlzal India (4) None of thege

W wiRE W e e d g

(1) <R wra - (2) YaRR 4

(3) W e ) Y B s
47. In which of the following are the Foyr Varnas firgt mentioned 7

(1) Rig\)eda . {2) Y\‘.l]l_lm {'3;] Purana;ﬁ I H‘] .

Ao I av) @ I B PR 2 Ubsajshads

(1) A yogee @ FA ‘

. TRy §
(11y .

PTo
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48. What is the main subject of the Upanigshads ?
(1) Mathematics (2} Philosophy (3) Health Science {4) Fine Arts
SurER] ®1 & ey wn g ?

(1) v (2) 5 (@) wren fsA (4) S e
49. The earliest Punch Marked Coins of India are of which metal ?°

(1) Gold (2) Silver (3) Bronze (4) Copper

e B AR snga Riae R ong W fafta & 7

(1) i (2) =t (3) e ) o
50. Who was the father of Mauryan Emperor Ashoka ?

(1} Ajatshatru (2) Bimbisar

(3) Bindusar (4) None of these

#d wre e o o d a?

(1) IeTTereng (2) fafeeR _

(3) fdgar &) zd W Pd T
51. Who is believed o be the composer of ‘Mahabharat' ?

(1) Valmiki (2) Gautama (3) Bharadwaj (4} Vyas

TErIRE ® vOTER e arn ST § 7 :

(1) gt (2) TR {3) “Rgm (4) =9

§2. Which ancient king was also known as 'Shiladitya’? -

(1) Chandragupta (2) Pushyamitra (3) Mihirbhoj (4} Harsha

2y g <o e F A @ A S S o e

(1) TR (2) gt (3) fafexHs (4) &% |
53. The department of military administration during the Sultanate period was

g _ _
k;'m‘"]‘:";‘jan_erlnsha (2) Diwan-e- Risalat |
23: Diwan-e-Atiz (4). Diwan-e-Mustakharaj

forsrer P A & A WA AT 7
BN m;ﬂﬁﬂ o (2) Hrarrg-REre
W 1) eI
3) - . @ SRRER
.ched the 'Khalsa Panti . )

54, Whe Eﬁtib:}obind Singh (2) Guru Afjun Dev
) & Teg Bahadul (4) Banda Bahadur
) Gur:ﬂl & Wi R @ ?

T e B (2) e 7 <
T %ﬂﬁ@f (4) ¥ R
mH

(12)
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55. Jagirdari system was the internal component of which system 7

(1} Mansabdari system (2} Igta system
(3) Aayangar system (4) None of these
v Rl wrawat &1 siaRes wer ot ?
(1) Aeaery) wmawen (2) ‘g e
(3) R mEwer (4) 57 A B
6. For which®of the following reasons in the Batfle of Chausa (1539 AD)
important ?

(1) After the war the Mughal empire collapsed
(2) Shershah decisively defeated Humayun
(3). Akbar adopted the Southern Route

(4) Humayun reacquired his kingdom

T B g (1539 do) W Aewy by gieer £ 0
(1) ¥ 48 # 99 Ta 995y & g BTl

(2) ¥Wwas I g @t Prfgs er &

(3) FTHR A <R/ B A0l sygEE
(4) T # o7 oo w s

57. When was the East India Company established ?

(1) 1602A.D.  (2) 1600 A, D, (3) 1664 A.D.  (4) 1596 A, D.

$R 0% Tl A v BWwr '

{1) 1602 30 (2) 1600 Ee (3) 1664 o 4) 1596 Fo
98. Who was the prc;rp{)nm‘li of ‘Shuddni Aandolan’ 7

() Raja Ram Mohan Roy (2) Swami Dayanand Saraswati

{3) Keshab Chandra Seit {4}, _M_ﬂivekamnd

YR TR B wudes @ 9 7 |

(1} a7 wH: S T (2) meﬁﬁﬁ

(3) BIW T A (4) W ey

594 IDﬂwnmrd Hration San I'ELEIEEE m Whld‘l G’f the fﬂ“[}W]ng 5
(1} Education {2) Pres'%

"HaEl e fagig mmfmﬁ%? | * Bank

(1) e ¥ Lkl 3) X ¥ @ ¥ 3
60. Opium War is related to I;Nh;d’l Country ?
(2) France |
%%feg?%%m e @ R ) Ching
(1) wid 2) (3) - 4 4
| { Ty

PT0
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61. Which phylum has the largest number of species ?

(1} e"‘ﬂ'th‘mpt?di’l (2} Molusca (3) Echinodermata (4) Annelida
fern Foom T e ST Wi gl e € 7
(1) m‘ﬁr"ma (2) AT (3) gwgrEer  (4) wiAferEn
B2. Method of rearing of silkworm is known axs :
(1) Apiculture (2) Sericullure (3) Pisciculture {4) Horticulture
T e @ uretH-awer # [l FEd &
(1} iz () WReem (1) Aftreem (4) ETmene
63. ' Muscles in the body are consisted of .
(1) Lipid (7) Carbohydrate {3} Protein (4) Vitamin
vty A ettt faerd o W 8§ 7
(1} T (2) FaEEg (3) M (4y fota
84. The normal systolic pressure in human ranges from
(1} 140-160 mm of Hg (2) 120 - 140 mm of Hg
() 160 - 180 mm of Hg ~(4) 180-190mm of Fg
e & W s qad P E e |
(1) 140- 160 ff T (2) 120-140 &7l 9
(3) Lbl - 180 {7 UKl - (4) 180 190 firfr a7
65. Which of the following is taken by athletes to increase their muscular power ?
(1} Clucose {23 Insulin
(3y Anabolic steroids (4) Epinephrine
orerdh sy e ) i wer 3g e ¥ W am A # 2
{1) TR L e
(3) TEifqE e @ LTt
86. Which one of the following organ is mainly involved in immunity ?
(1) Thymws 2) Pancreas (3) Adrenal (4) Thyroid
ﬁﬁqﬁ_aﬁﬁ.waﬁrﬂﬁ%ﬂﬁj@ﬁﬂ@ﬂﬂﬁmﬁ? ]
§7. Which of ihe following organ is highly affected by excessive consumption of
chol ?
}‘?]!‘;{}1 et (2) Kidney (3) Lung (4) Heart
vl ﬁ@ﬁﬁﬁﬁﬁﬂﬁamaﬁﬂﬂﬁﬁ%wwﬁﬁaﬁﬁ?
v HIA ,
{'1) 730 (7) T (3) BT (4) ¥ad
A stificial KidneY machine can clean the blood through the process of ;
68. AT - (2) Dialysis (3) Plasmolysis  (4) Haemolysis

‘. nsls : - J
(1) OSTO frer 1) BT v o 0 TR 7

ﬁiﬁfmi (2) Suly (3) el {4) Erfxtmm
1 :
(14)
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T2,

73.

74.

75.

17U 04/1(Set-1)

Nicotine is found in -

{1} Alcohol {2) Tobacco (3) Marijuana {4} Betel
e forerd o o & 7

(1) Yoo & (2) wrg ¥ (3) W ¥ (4) @ %
Food is digested completely in the :

(1) Liver (2) Stomach

(3) Small intestine (4) Large intestine

IS T 9T HEl ) ol e @ 2

(1) ¥w ¥ (2) ey &

(3) o affa ¥ (4) = offr ¥

Myopia is the disease associated with: :

(1) Ear (2} Nose (3) Lung (4) Eyes
I e s & grefug A &7

(1) @ (2} T (3) o (4) @
Which disease is caused by the bite of mad dog ?

(1) Rabics (2) Mumps {3) AIDS (4) Tetanus
T B[ & BN A W 27 B 2 7

(1) ey (2) w 3 = @) Rewm
Which of the following is a viral disease ? '

{1) Small Pox (2) Tuberculosis  (3) .Tataous (4) Malaria
Wﬁ#—wﬂw@ﬁwwzﬁ%?

(1} e ey (2) eFEafm (3) feesw (4) wafar
AIDS ix caused by :

(1) Fungus (2) Virus (3) Bagterium  {4) Helminth
TEH 91 SR 20 2

(1) & (2) ey (3) Sfrrg (4) Ty

Deficiency of which Vitamin causes Night Blindnéss ?

() VitaminK . (2) VitaminE (3) Vitamin B {4) Vitamin A
e e 9 o0 & it Sl gy & 0

(1) faotm & (2) fefos ¢ (3) faeifm & (4) R o

Polio is caused by :

(1) Fungus (2) Insect {3) Bacterium (4 Virys
Tiferdt T awer S #
(1) wa® () #E (3) Shrany (4) Rmoy

(15)
PTO.
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77.

78,

79.

80.

Which of the following celestial bodies has its own heat and emits light ?

(1} Natural Satellite (2) Planet

(3} Star (4) Artificial Satellite
v v i A O P w9 S R Y waT et avar € 7
{1) T TUUE (2) TE :

(3) AT {4y Fom SUgE

Select the incorrect pair from the following -

(1) Rotation of the Earth - Day and Night

(2} Revolution of tilied Barth - Seasons’

(3) Eartl's gravity - Holding of aimosphere
(4) Revolution of the Earth - Coriolis effect
B{afen 4 @ TaT wer gt

(1) gt @7 goia - — A ofR T

(2) T g g W i o — i

(3) YR I TREIDIT .- TRYHET T TET

(4) g @1 g - wiRefaa W

Select the wrong statement from the followmy:

{1) Trade winds are caused h.y convection

(2) Most of weather phenomena takes place in Troposphiere

(3) Roaring forties are strong westerly winds

(4) Chinook is cold wing that blows on eastern slope of Atlas mountain
Prwfafg § & Tda SO IO

(1) @miRe Fw e W S Tt &

(2) wifdrestn Al gAY EHEH ¥ gfEw Bl &

(3) Wﬁﬂﬁﬂﬁﬁaqﬁﬂﬁﬁ“ﬁﬁ?ﬁg -

(4) o @ @ 1 & ) Ueew UAd B A e W aE 2
Deflection of winds to left in southern hemisphere is caused by :
(1) Revoiution of the Earth (2) Rotation of the Earth

3 [nclination of the Earth at its axis  (4) Flattening on poles
Ayt e 5wl B gmadl B @1 B8

1) qﬁ 7 TR - (2) P & A
o) 3l @ T W W A (4) B N TR

(16)
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Which of the following clouds is nearest to the Earth surface ?

{1} Cirrus (2} Altocumulus
{3} Stratocumulus {4} Nimbostratus
Frfered araat § & @ exree 3 we Tords T T 2 2
(1) e (2) P Hey

(3) wrdt Furh ' (4) 9 w=
Which of the following types of precipitation is Hailstorm ?
(1) Convectional (2) Orographic
(3) Cyclonic (4) Artificial
semgie frefeafa ¥ 4 i aer o1 oo £ 7

(1) waeirg (2) wddha

(3) =wady () e
Monsoon arrives in India in early June at :

(1} Kerala coast (2) Kaonkan coast
{3) Eastern ghat (4) Gangetic plain
HRE W AR G B e F g @

(1) #vF 7e av {2) T e W
(3) ydi me w (4) oW FF W

17U/104/1(Set-t)

Which of the folowing is not correct about the wettest place on the earth 7

(1) Mawsynram is the wettest place on the earth

(@) It is a village at Khasi hills in India

(3} This place is situated in Meghﬂla}‘a state of India
(4} Here the average annual rainfall is 11777 mm

gﬂwmﬁmaﬁmmﬁ‘mﬂ:#ﬁﬁﬁﬁa#ﬁﬁﬁﬁ TR

(1) "ARERH 72 W ST 99 qor w2
(2) g8 “~T # Tl gEE wegw g ¢

(3) 98 AR & AdTer el F fery

(4) wEf afvwa affe aof 11vPefn &

Which of the following regions of Indiarecerves fain by Wester

(1) North - West {2) South Wegt
(3) Western coast (4) Eastern coast
e @ PR O & RN ot faaies & ot g 2
(1) TR - Hiean (2) RO Y
(3) ufdedr TR (4) o wEeme

{17)



17U/104/1(Set-1)

86.

Raw materials and places of their availability for ISCO Burnpur are as below.
Which of them is incorrect pair ?

(1) Coal - jharia {2} Tron-ore — Singhbhurmi

{3) Water — Darnodar River (4) Limestone —Palamau :
e T @ Ry Foeme R SEE U 9 dTe e R 2w @
W To7eT WISl © 7

(1) SR - FRT (2) dre-armes - RiwyfE
(3) e - TFER T (4) TR — TG
87. Which of the following States is the highest producer of iron-ore 7
(1) Goa (2) Odisha (3) Jharkhand (4) Chhattisgarh
P et & @ T e-ad B WA ST € 7
(1) (2) it (3) TS (4) T
88. Which of the following is ‘pure’ raw material ?
{1} Colton {2} Trom-ore (1) Coal (4} Sugarcane
Frffan & § 61 GE ET WS 8 7
(13 Hrd (2) - (3) BRE {4) =T
89. Which of the following States has the highest productivity of Sugarcane ?
(1) U.P. (2) TamilNadu (3) Maharashtra (4) Bihar
ﬁmﬁﬁﬁqlﬁﬁﬁfiﬁﬁ'&ﬁaﬁwﬁiﬁmmﬁmﬂmﬁ%?
(1) ST e (2) TG @) g . @) TR
80. Which of the following is a major mine of Manganese ?
(1) Dallirajhara (2) Parna
{3) Balaghat (4) Khelri
Bt § @ P17 AT ol T8 @eH ¥ 7
(1) STARTE (2) o=
(3) AT @ =
. 1 industry is famous in the ‘Jajmau ? .
9t. ‘-‘;Wihe :;her ) Fertlizer (3) Polalo chips  (4) Jute
s 3 97 5 ﬁ:ﬂf ? @) s e @
- (2) TR e T vi©
oHe!
Y o Union Budget for 201718 presented in Lok Sabha ?
5 th
When W# : (2) 8th February, 2017
92- Eehruaﬁ . 2ﬂ 1.? - b
1) 1 v 2007 (4) 28th February, 2017
s i FEOCL o e e o 6 T B 39 Py ey 7
'{3) ) T g dald - 1 | ! LR/
74 ?,E!l'f'ﬁ 0 (2) 8w, 2017
el (4) 28R, 2017

[\'ﬂ 1 . {.13}.
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96.

97,

IR COW @ S 358 B, WERD W Frs 8571 2

17U/104/1(Set-l)

Consider some of the following names :
A. Raghuram Rajan )
B. Urjit Patel

C. Arun Jaitley
D. Y.V.Reddy _
Who have been the Governor of Reserve Bank of India ?
(1) AandB _ (2) A,BandC
M B.Cand D (4) A, BandD) -
1 75 it w R WY
A. TEVH WO
B. Sffa wew
C. ar oreeft
D. i dlo v |
THIM RS ds e w & 7
(1) A9wmB (2) A,BunC {(3) B,.CaurD {4 A BourD
The first Indian weman to be decorated with 'Bharat Ratna' is :
(1) Vijaya Laxmi Pandit (2) Indira Gandhi
- (3} Bachendri Pal (4) Sarojini Naidu
WRE T R ot o At s el A
(1} Raerd tfen (2) gfeewr Tt
(3) w5y (4) IR g
Wha constructed Red Fort in Delhi ?
(1) Akbar (2) Humayun {3} Shahjahan 4 A
Frcht o ot PO 2t PO Py o 2 ) Avrangzeb
(1) srpa ) g (3) mewEr (9 e

Which is the only historical monument which cas be seen by naked eyes from
the moon ? _ : '

(1) The Leaning Tower of Pjsa (2) The Statue of Liberty, New York

(3 Tgeﬁ[’fframi;?s;f Egypt . (4} The Great Wall of Ching

¥ R 9 (& CFOEHE oo & it 7 ot @ e

27 | | ¥ &
(1) rar # g AR (2) e fRers waemmy -

(3) Rw 3 AR () $==& g gy ik

If COW is coded as 358, WORD is cotted as 8571 and
then how wotlld Véirersode the word COWARD 7 708,

&OT DRATY

COWARD @7 %1% #r.gem T Prg 1705 8 o
(1) 358017 (2) 358071 (3) 358077 ” _
(19) 07381

PTo,
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88, Mohan consistently runs 515 metres everyday. In how many days will he run

100.

101.

102

8.24 kms ?
Az whafes 515 frey Sear ¥ Reet 3T ¥ 9z 8.24 Rl e ?
(1) 14 (2) 16 (3) 18 {4y 24

A man said to a lady, "Your mother's husband’s sister is my aunt." How is the
lady related to the man?

(1) Mother (2) Daughter

(3) Sister (4) Grand daughter

P e A UF Afeen | Sl arqa df @ ofy @ med A gam B 9w FEen o
W el O vEa ¥ 7

) = @ =

(3) q&F (4) 4=

From the top of a hill, the angle of depression of two consecutive kilometer
stones due east are found to be 30° and 45° respectively. If 3= 1734, then
height of hill will be : ‘

(1) 2km (2) 1734 km (3) 1.534 km (4) 137 km

Wﬁ@ﬁﬁﬂﬁﬁﬂiﬁﬁﬁmﬁﬁwﬁwﬁmﬁmﬁwmﬁw
Froy A 30° T 45° ¥) A J=173, o T B 9 A Fa E

(1) 2 (2) 1.734 A (3) 1.534 &l (4y 137 R
If the surface area of a sphere is 616 em?, then its vlulmne is | = %J :
(1) 1450 e’ (2) 1437.33 e
(3y 153766 (4) 1500 cm’ o
ﬁ@ﬁaﬁq@naﬁmﬁwﬂ%%ﬂwﬂaﬁaxmm%.\n.—.-T-§.
4y 1450 | | (2) 1437.33 9 k '
L -
(3) 1537.66 T (4) 1500
and internal diameter of a hemisphere shell are 18 cm and 16 cm
Tne E)(E:jl. The total surface area of chell used for painting will be :
!Z'ESP{:;TMI . [2} 580 sz
W a7t (#) 56257 cn
{E)ﬁwﬁ-mWWWWMISﬁﬁﬁm16W%lm
ST A T & R €
DR (@) 56257 ¥
o) VK. |

(20)
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~Mean of é number is 20. If one number is excluded, their mean is 22. The

excluded number is :

ﬁ?@ﬁﬁﬂﬂaﬂwmilﬂﬁ‘ﬁﬁwﬁﬁlﬁfﬁﬁﬂ,ﬁﬁ?ﬂmﬂﬁr
RN 8| frepreh T e @ A 2 - :

) 5 @ 6 @ w0 (@) 12

Simplest form of : .
N 94-@-3@—5&3 (@7 TXeaw ey 2)

(1) 246 2) /6 3) 36 @ V6

The sum of two numbers is 108 and one of them is 35% of the other. The greater
number is '

aﬁ#@mﬁmmﬂma%a&nﬁmWWaﬁaﬁ%%r%ﬁﬁmﬂﬁﬁﬁ

(1) 80 (2) 90 3) 70 {4) 85

Which of the following statements is not correct 7

(1) In Indiari Constitution the total numbes of Artictes 15395,

{2) Finance Commission is formed under Article 280 of Indian Constitution,
(3) Madam Cama wag the ﬁr&t‘wﬂman.pr?ﬁiﬂﬁltﬂfﬁhdian National Congress.
(4) "Politics in India is Rajni Kothari's guide research’ sku@V.

Frafaiyg was § P TE TR 7

(1) i sfeerT ¥ e rpesdl o wom 395 ¥ |

(2) Rt o 1 e i R 3 e 260 & sl Ry w2

(3) Hew @ wRAT VAT Wi Y e wfer s At )

(@) AR 5 R 3 B 1 v T s 8

From the following whicfis Uﬂ&mﬁt_wiﬂfﬁﬁéiwld"?

1) Fritria 2) Ethiopia 3) Conpo )
f J # = ﬁ?‘é) P . . i } B! {4J "&imh Sudan
(1) Tz (2) s (@ @ © T e
What is the full form of 1317 |
(1) Inter-service Intelligen (2) Inter-state intelligen;
(3) India seciirfty” i (4 None of these
S1 1 qX A w7
(1) gev-ufigw e Y IRE 3o
(3) e feediRe) Teomra E&)'ﬁﬁ_ i
(21

PTo.
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109, In which of the following, there is no reservation for any caste 7

(1) Rajva Sabha (2} Jammu & Kashmir Vidhan Mandal |
{3) Rajva Vidhan Parishads (4) All of the above
By 8 @ Bl fe R wifa @ oy amRE JEFR T
(1) W% =4 (2) W Td B BHE TS
(3) wron faere ufwd (4) BOTER T
110. From the following who was the member of Lok Sabha during lus Prime
Ministership ?
(1) Devgauda (2) LK. Gujral
(3) Chandra Shekhar {4) Dr. Manmehanxsmgh
PrefrRaa % & B A TEEw B I i B I 7
(1) FEie (2) o o TN
(3) THIIER ' (4) Sfo wHEa e
111, Among the following who became Prime Minster more than once ? Select the
correct answer from the codes given below :
a. Jawahar Lal Nehru b. Indira Gandhi
v Gulcan T.al Banda d  Atal Bi hari Bd]Pal
(1} aand b (2) aand ¢ (3) a,bandd  (4) All of the above
Wﬁﬁﬁaﬂawﬁammmmmgu??ﬁﬁmfhc?"lf@?
g SR P TEA Wi
A WARY WA EE b, Efw T
¢, TR T T d. sed fEd) e
() adith (2} a ¥R ¢ (3 abaRd {4) syga W
142. Towhom Indian President address his resignation lelter ?
{1} Lok Gabha Speaker - {?) Vice-President
(3) Prime Minister (4) Chief Justice of Supereme Courl
Wa}ﬂﬁ;ﬁ%mmﬁﬁmﬁm%mﬁﬁﬁf?
) d W 2) SHTETR . N
e 4 AT e A -
143, How maty fundamental dulies are in Indléﬂ constitution ?
[1] Hmﬂ {2‘] Ei;everl |:3} T.WE].VC' {-l:i T\«?Eﬂ[}'
. - 5 ?
» (2) e (3) e (4) A
1 -

(22)
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By which constitutional amendment 10 fundamental duties have been added to
constitubion for Indian Citizens ?

(1} 2dth (2) 38th (3) 44th (4} 42nd
fera ﬁﬁw*ﬁshaammwﬁuﬁmﬁﬁﬁmmﬂaﬁmﬁﬁm?ﬁﬁﬁéw?
(1) 243 (2) 384 (3) 444 o {4) 42%

Arrange the following in chronological order :

A, Dandi March

B. Simon Commission

C. Poona Pact

D. Gandhi-lewin Pact

(1) B,A,C,D (2} B,A,D,C
3) DLC,AB (4) D,C, B, A
e &) Frenmiis B ¥ orafen Hfdw -

A. 1€ °H '

B, WEmw wiee

C. g e

D. wiei-gefae dae

(1) B,A,C,D (2) B.A,D,C
(3) D,C,A,B (1) D,C,B, A

Why did the Non-cooperation Movement evoke poor response in Maharashtra
and Karnataka ?

{1} The Congress was not popular in these territories

(2) The upper castes opposed the anti-untouchability content of the movemnen;
{3) The capitalists in these areas opposed the boycott of foferpm weods

(4) The popularization of Charkha was not successful in these territorieg

F1 FBRS, ok ofes § e ol & #a sfoReer a1 20 2

(1) ¥ eRedior 7 B woofl W ot oy

(2) o R A <ot B RK srgm ey vy e

(3) 57 &t ¥ FReforet ¥ ML) Wy TIPIE BT fiher oy

(@) 37 Ml | g Bl AP v st o

(23
PT O,
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417. Who were the three revolutionaries hanged on the charge of Kakori case ?

118.

A. Ramprasad Bismil
B. Manmatu Gupta
C. Rajendranath Lahiri
D. Ashfaguallah

(1) A,BandC

(3) A,BandD

(2) B,Cand D
(4) A, CandD

b i R B @@ Fie & v ¥ B ¥ @ 0w o7

A, My e
B, TR T4l

C. org Y Sl
D, e

i1) A BaarC

(3) A, BTD

(2) B,CT=D
{4 A, C @D

Match List 1 with List II and select the correct answer nsing the codes given

below the Hsis

List I
A. Lala Lajpat Rai i
B. Bal Gangadhar Tilak i,
C. Gopal Krishna Gokhale i,
0. Mahatma Gandhi o v

V.

Codes:

s B C D
(1) i i v
wi b

: i

@y i ¥

(24)

List I

Servants of Indian Society
The Pioneer

The Young India

The Kesari

Navjeevan
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120.
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Wlaﬂﬁfﬁﬂﬁﬁﬁﬁﬂﬁmﬁaﬁ?ﬁﬁﬁﬁﬂﬂﬁﬁﬁ??Eﬂfﬂﬁqﬁ?rm
BT

sl T i
A. TR YT T i wdves Iftw gitegs s
B. o1 TR ferm i, TERAR
C. W@ T fii, 7 97 g
D. wEem e iv. T

v. Wgoliad

B

A B C D
Wi v iy
() i i i v
(3) 1 ii ive i
4) iii v v i

Who was the Viceray when the Simon Commission visited Indsa ?

(1) Chelmsford (2} Reading
(3 Trwin (4) Wellington

T W T ART ST T AR @iy oy

(1) aram)d (2) dfgn

(3) 3fd= (4 fetres

Lord Warren Hastings was not associated with

(1) Rohilla war (2) Chait Singh's case

(3) Afghan war (4) Nand Kumar's cag,

A A SRETw WAl T o .

(1) e 32 9 (2) ¥ Rie > o o

(3) T 34 ¥ @ NIy g
(25)
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SECTION -1
agog — 1l
LANGUAGE : ENGLISH
(For Candidates Opting English Language)
Note : Four aifernatives are given as pﬁssihfa answers to each question. Gioe He correct
choice as an answer. o

Direction for Q. Nos, 12110 124 Select the word nearest in meaning to the given word :
121. Cede:

{11 Design (2) ldeas {3) A set of rules (4) Lines
122. Sphere:

{1} Boundary {2) Area (3} Walls {(4) Fence -
123. Dedication :

(1) Liberal (2) Sincerity (3) Love (4) Devotion
124, Significant :

{1} [mportant (2) Popular {(3) Famous (4) Known

Direction for Q. Nos. 125 10 128 Select the word opposite in meaning to the given word :
125. Fact:

(1} File () Truth (3) Fiction {4) Famous
126. Crazy: _
(1) 'viad (2) Sane (3 Cunning (4) Clever
127, Brave: | . |
{1y Careless (2) Virile (3) Strong (4) Cowardly
128, Tame: -
{LE; ::Fild {2y Pet (3) Domestc () P_laymatg
Direction for . Nos. 129 to 132 : Sclect the word which can be substituted lor the
iven group of words _
Egg, %Ze who louks on the bright side of things ¥ o |
0 Cheerful (2} Happy (3) Oplimist {4) Modern
 One who works for free:
130 (1) Labour (2) Worker (3) Cheap (4) Volunteer
 who'is present everywhere: .
131. ﬁ?L(}nmiprEtient (2) Spread (3} Pﬂpular (4 Famous
psition for which no salary is paid :
132 Apﬁpﬁ ) Wages (3) Honorary (4) Free
Fl) ¥ Nos. 133 to 136 Select the word which has been correctly spelt.
DifEChﬂﬂ 0 (.hela'[ (2) diriction l?’} showar {5,‘} grammar
133. () ,afarmgriun " (2) education (3) averege (4) eduction
134 (ﬂ v "[ﬂde (2) latitatde {3] aﬁentﬁ"ﬂ? {(4) advanlepe
135, ( attl Lecation () appriciatmn (3) association (4) aplose
P

426, (1) @ (26)
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Direction for . Nos. 137 to 140 : Fill in the blanks wilh the correct word -

137. Please ......cooevnnnn. yOur name.

(1} right {2} rite {3} write (4} ryte
138. Shehasa..ooovveeeeee., ., dog.

(1) now (2) nywe (3) knew {4) new
139. fwill.................. all packages.

(1) accept (2) except (3) acept (4) aspect
140, ﬁerePUrterwaqunahlem.......,..,.......infonnaﬁunfmmthepc]iee.

(1) allege {2) allict (3) illict (4) elicit

Direction for . Nos. 141 to 144 : Select the part of speech of the underlined word in
the given sentences : '

141, Deb wails patiently while Barnali bogks the tickets.

(1) noun 2) adverb (3} verb " (4) pronoun
142.  The old man lives in solitude.

(1) adjective (2) noun (3) verb (4) adverb
143, 1saw three kids.

(1) verb (2} noun

(3) preposition : (4) adjective
144. Oh!You scared me !

(1} interjection (2) comjunction (3) preposition  (4) adverb
Direction for (. Nos. 145 to 148 : Select the correct tags to corplete the following
sentences :

145. Youare COTUNG evvecvsrtreens .

() Areyou? () Aren'tyou?  {3) Will you? (4) Won't you 7
146. Trisn't AININg ...ocovnremmresnsans - -
(1) Hasit? (2) willit? (B Isit? M) Can'tjy»

147, We have finished w...ooeruc .

(1) Didn'twe? - (2) Haven'twe ? {3) Have we?
148. They will help, ——

(1) Would they?  (2) Can they? (3) Will they Wor:
Direction for (3. Nos. 149 & 130 : Choose the correct option to ml\q on'} thEy ?

@ Are we ?

part of the given senfénce :- ' . * the Underinag
149. Al of the homework assigned to the students should to be m.q
Tuesday. . _ tted by next
(1) istobe (2 aretobe’ . (3) eantobe-- (4
180, T have the book I purchased from the bookstore. D_Q vot have yoyuy 7" ba
(1) Haven't your - (&) have yo
{3} Do you {4] DO‘}' QU have yours

(7} P1,
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SECTION - U
Jve -l
e < ey
Wéﬁﬁﬁmﬁﬁﬁm}

fade: Fratiam sl 4 (1), (2), (3) T (4) TG P FRAR ieferm SR & T R,
freril @ 3% T & wd &1 9F FE 9T T T

151, Prafafag o whosr @ wga W@ g7

(1) & (2) o NG (4) %
152, i Al frerd Rt ot ¥ e omd 7 | |

(1) AN (2) el (3} T (4) sRwd!
153, e fR= 3 aﬁzﬁ’r.% :

(1) e (2) F=ieft (3) BT (4) e
154. =1 ﬁmmaﬁmﬁé?

(1) & (2) ¥y . (3) T (4) ey
156, Trafufign § FeAen 2has HE-E & 7

(1) ¥ @ ® (3 4) €
156. qﬁﬁv@‘ﬁ?ﬁwﬂ?ﬂ%? |
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